Paper Platform Efficiency Worksheet
Name: _________________________
Partners Name: _______________________

Structure Weight: ________ grams

Weight Held: _____________ pounds     =
__________________ grams

Efficiency: ______________________
Convert the pounds to grams 

Note: 1 pound = 453.592 grams

Multiply
Weight Held (pounds) x 453.592
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Calculate the Structure’s Efficiency

Divide the Weight Held (grams) by the Structure weight (grams)  
Hint: Don’t forget to move your decimal points 1 place to the right before dividing.
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